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QUIZ Answer Sheet ]

hands on particle physics

Your Answers Your Score

tick off your answer A, B, C or D tick off one energy step for each correctly

answered question, starting at the bottom

® A 7000000000000 eV
[i B full beam energy of the LHC

® |

® ‘ 172900000000 eV

mass of the top quark
|
CJ
91187600000 eV
C ®

mass of the Z-Boson

@ ‘ 938272013 eV
[i mass of the proton

® ‘ 105658367 eV
[i mass of the muon

||
® ® 2500000 eV

mass of the up quark
®

|

510999 eV
[i ‘ mass of the electron
®

X




